LS ORIL (RS, 3. 31 BELE)

GHEBUA®RE  HA7:T)

Nk T K EFEE %‘Jr(lllﬁﬁﬁ)
oA B H T R OBl #H (VSN &1 AT X X B T A OB 3 A AT X
1 F /K& fE K 168,894 169,095 100.1 |1 % i % 6,295 5,182 82.3
2 WKL EE A 4 4,016 5,432 1353 (2 4 B & 115,740 113,311 97.9
3 Z 0w ¥ A 2 116 5,800.0 [3  #& & # 26,829 26,187 97.6
4 fth = F M B & 154,274 152,916 99.114 =% D fit 365,238 364,994 99.9
5 il B & 370 370 100.0 (5 3 # F B 28,326 28,099 99.2
6 % D fth 231,823 231,827 100.0 [6 # » fit 14,689 10,651 72.5
SN i 559,379 559,756 100.1 X GaE 557,117 548,424 98.4

N H P KE FE it (BAH)
oA B H T B OB N R AT X o B A T R OBl 3 # AT X
% W AHE e 1 0 0.0 |1 A3k B & 970 398 41.0
% W E e 101 2,750 2,722.8 |2 HILMEE & FEN AL 250 239 95.6
s & & 59,831 57,732 96.5 |3 1 ¥ F E &8 & 186,518 186,518 100.0
SN 59,933 60,482 100.9 X WA E 187,738 187,155 99.7

EEBER 1, 200, 287 (A4 628, 429 HiBR571, 858)




B EKE K K F E = i (IR

oA B H T R OBl #H N R AT X BN E T A OB X AT X
1 F K& fEH B 34,571 37,119 107.4 (1 & i # 10,259 9,449 92.1
2 % Gt F ¥ B 5,000 3,872 7402 e B B 23,844 22,979 96.4
3 Z DAl AR 1 10 1,000.0 |3 % 3t F % I 4% 4,500 4,433 98.5
4 fth = G+ #H B & 80,813 80,813 100.0 [4 # £3 # 18,588 13,576 73.0
5 Bl & 0 0 #DIV/0!|5 % 75) fit 121,017 120,916 99.9
6 < 72) fit 80,050 80,265 1003 (6 3 # F B 17,738 17,637 99.4
7 % D fit 3,692 1,889 51.2

SN i 200,435 202,079 100.8 X & F 199,638 190,879 95.6

B ERE K K F X = B EERN

A B H T B OB A % BOAT B X B H T R OBl 3 # AT X
1 X4 HoHE 1 2,200 | 220,000.0 |1 & B A% & B & 6,710 6,700 99.9
2 % 4 21,138 21,138 100.0 |2 LG sr & B & 2,024 2,013 99.5
3 il ) & 3,350 3,350 100.0 [3 & ¥ & {H & & 57,491 57,491 100.0

SN 24,489 26,688 109.0 X WA E 66,225 66,204 100.0

EEEHAER 850, 184




K E F E = (R

A ® H T R OBl #H A % BOAT B X B A T A OB 3 A BoAT F
1 K I 2% 322,231 322,232 100.0 (1 J&/ ¥ Kk # 57,497 50,312 87.5
2 % 5t T UL 4% 4,250 4,355 10252 & Kk B 35,951 31,378 87.3
3 TRk hAF AR 1,420 1,871 131.8(3 =% # T H= # 3,850 3,847 99.9
4 = I F B 150 57 38.0 |4 # £ # 24,268 23,564 97.1
5 il = 3 M B & 12,216 12,034 98515 X Al B 25,709 25,492 99.2
6 % D fth 64,316 65,382 101.7 [6 * » fit 180,680 178,316 98.7

SN i 404,583 405,931 100.3 XA E 327,955 312,909 95.4

K T X it (BEAH)

A B H T B OB N R AT X o B A T R OBl 3 # AT X
1 1 -3 E 113,500 113,500 100.0 (1 54 oK it 7% o B 2 154,163 153,156 99.3
2 % % 22,500 22,500 100.0 |2 DERACHE K a3 i 2 B 31,951 26,666 83.5
3 4 # 4 506 1,102 217.8 |3 i 5y KB i s B i 8,531 8,525 99.9
4 M OB & 15,039 15,039 100.0 |4 = ¥ = W # 460 66 14.3
5 B i B & 0 0 #DIV/0!|5 1 ¥ & E & & 179,919 179,919 100.0
6 — k= EHA B & 26,422 26,138 98.9
7 A # 4 1,500 1,500 100.0
8 % D ity 4,400 4,400 100.0

SN 183,867 184,179 100.2 X A E 375,024 368,332 98.2
EMEBER 1, 131,872
i & 8o R4 202, 078 FIZEFEN4 3, 359  JMERE4A 37, 146




